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1 KE(CC)
AIEFAZE (R2.8.20) ——
mEMS | BRIS | BOH A9 | BBTEN e myo | EEDE | TGRS | ISR
i =) /a A - b24
5 B —giE]
Om 26.0 26.0 25.8 25.9 30.2 A 13 24.0 25.9
2m 26.0 26.0 25.8 25.9 29.7 A 38 26.3 26.5
5m 25.9 26.0 26.0 26.0 28.2 A 22 26.3 26.3
10m 26.1 25.9 25.9 26.0 26.7 A 07 26.2 26.2
B-1m 26.0 25.9 26.0 25.9 25.6 0.3 26.2 26.2
*2 EH
AiIEIFAZE (R2.8.20) —
mEMS | BRIS | BOH A9 | BBTEN e myon | EEDE | TGRS | WIS
nn =) /s A - b24
5 [ —gi=]
Om 33.0 33.1 329 330 31.0 2.0 28.8 30.6
2m 33.0 33.1 32.9 33.0 31.2 1.8 32.8 32.4
5m 33.0 33.1 33.2 33.1 31.8 1.3 33.1 33.0
10m 33.1 33.1 33.2 33.2 325 0.7 33.3 33.2
B-1m 33.6 33.7 33.3 33.6 33.1 0.5 33.4 33.4
&3 BEBRSE (mg/L)
ATl 3A & (R2.8.20) —
mEMS | BRIS | BOH A9 | BBTN e myo | EEDE | TGRS | ISR
i =) /a A - b24
4 [B] —Hif[E]
Om 6.8 7.0 6.5 6.7 75 A 038 8.0 76
2m 6.8 7.0 6.5 6.8 7.6 A 08 75 7.1
5m 6.7 6.4 5.6 6.2 7.1 A 09 5.9 6.2
10m 5.7 5.9 5.3 5.6 6.4 A 08 55 6.2
B-1m 4.7 5.3 5.7 5.2 6.7 A5 5.6 5.8
XKERIA-EDE -HZVDFEHIE
=4 KR-FEHAE (m)
Bais | mRIS | Bow | A5 | FALER] mgm
KiE 17.9 241 15.6 15.5 15.0
B 4.0 3.0 3.2 3.5 2.3
gi1[El (8/20) 5.0 3.5 45 5.0 3.0
&5 F529k (cells/mL)
Om 0 4,400
ZRIJA 2m 0 3,350
5m 0 2.500
Om 0 4,400
B0 2m 0 6,750
5m 0 5.050
Om 0 3,400
H30 2m 0 3,650
5m 1 3,100
s bye [om 0 1,500
oofEl 2m 0 1,240
5m 0 70
Om 0 3,000
k=10 2m 0 1,420
5m 0 400




